Ball Bearing Insert

C&H
SB000 & SA000 BEARING
]
{ e g}'/”?
SB000 [
(A
@ Set screw locking iy § ' 1 \
@ Extra-Narrow inner ring "
. o o D —t d d3
@ Available cylindrcial OD -prefix " C l
@ Available stainless steel -prefix " S "
Pl
i)_ s1—
- B -
Cr?wngd Clitndri(.:al Dimensinons(mm) Weight Interchange
outer ring |outer ring - K
cR CceR d D B C | rmin S G ds 9 FYH
SB000 CSB000 10 26 14 8 0.5 4 3 | M3x0.35| 0.02 K000
SB001 CSB001 12 28 | 145 8 0.5 4 3 [M3x0.35| 0.03 K001
SB002 CSB002 15 32 16.5 9 0.5 4.5 3.5 | M4x0.5| 0.05 K002
SB003 CSB003 17 35 | 175 ] 10 0.5 5 3.5 | M4x0.5| 0.05 K003
SB004 CSB004 20 42 21 12 1 6 4 M5x0.5 | 0.09 K004
SB005 CSB005 25 47 | 225 | 12 1 6 4.5 | M5x0.5 | 0.10 K005
SB006 CSB006 30 55 | 245 | 13 15 6.5 5 M5x0.5 | 0.15 K006
L
— C ﬁ
SA000 ' A5 ot
@ Eccentric locking collar . |
@ Extra-Narrow inner ring
@ Available cylindrcial OD -prefix " C " D d— - d3
€ Available stainless steel -prefix " S "
- i ~
HKk—
S | _s1_]|
—-— B —
indri Dimensinons(mm
Crowngd Cyllndrmal (mm) Weight Interchange
outer rnng outer rng K c d t .
SA CSA d D B C L rmin| S K d3 ds g rowned outer ring
SA000 CSA000 10 26 11 8 175 0.5 4 8.5 17 M4x0.7 0.03 U000 UOOO+ER
SA001 CSA001 12 28 11 8 17.5 0.5 4 8.5 19 M4x0.7 0.036 U001 UOO1+ER
SA002 CSA002 15 32 12 9 18.5 0.5 4.5 8.5 22 M4x0.7 0.05 U002 UOO02+ER
SA003 CSA003 17 35 135 | 10 20.5 0.5 5 9.5 25 M4x0.7 0.06 U003 UOO3+ER

SA004-12 [CSA004-12 | 19.05
42 | 16.7 | 12 | 246 1 6 11.1 30 M5x0.8 0.10
SA004 CSA004 20 uoo4 UOO4+ER

SA005-14 |CSA005-14 | 22.225
SA005-15 [CSA005-15 | 23.813

47 | 175 ] 12 | 254 1 6 11.9 36 M5x0.8 0.13
SA005 CSA005 25 U005 UOO5+ER
SA005-16 [CSA005-16 | 25.4

SA006-18 [CSA006-18 | 28.575

SA006 CSA006 30 U006 UOO6+ER
55 [ 185 | 13 | 26.5 15 6.5 11.9 42 M5x0.8 0.19
SA006-19 [CSA006-19 | 30.163

SA006-20 |[CSA006-20 | 31.75

SA007 CSA007 35 62 20 14 | 295 15 7 135 48 | M6x0.75 0.25




Silver Zinc Alloy Pillow Blocks

UP000 & KP0OOO

UP000
@ Bearing - GCr15
@ Housing - Zinc-alloy die casting
@ Eccentric locking collar
- carbon steel black oxide treatment
4 NBR seal
@ Available with stainless steel cover

) Shaft d Dimensions(mm) Bolt Size Bearing Housing Weight

onitNe- (mm) H L J A H1 Ho N S B1 A3 mm No. No. (kg)
UP000 10 18 67 53 16 6 35 7 17.5 33 M6 U000 PO00 0.08
UP001 12 19 71 56 16 6 38 7 4 17.7 33 M6 uoo1 P001 0.1
UP002 15 22 80 63 16 7 43 7 4.5 18.7 34 M6 U002 P002 0.14
UP003 17 24 85 67 18 7 47 7 5 20.7 38 M6 U003 P003 0.17
UP004 20 28 100 80 20 9 55 10 6 24.2 46 M8 uoo4 P004 0.26
UP005 25 32 112 90 20 10 62 10 6 25 47 M8 U005 P005 0.33
UP006 30 36 132 106 26 11 70 13 6.5 26 50 M10 U006 P006 0.5

KPO0OO

@ Bearing - GCr15

@ Housing - Zinc-alloy die casting

@ Set screws

€ NBR seal

@ Available with stainless steel cover
Ui Shaft d Dimensions! mm) Bolt Size Beating o, | Housing No m

(mm) H J A2 | A1 A N L s z A3 mm (kg)

KPO0O 10 18 67 53 16 6 35 7 4 14 28.3 M6 K000 PO00 0.03
KP0O1 12 19 71 56 16 6 38 7 4 14.5 30 M6 K001 P001 0.04
KP002 15 22 80 63 16 7 43 7 4.5 16.5 33 M6 K002 P002 0.05
KP003 17 24 85 67 18 7 47 7 5 175 36 M6 K003 P003 0.07
KP004 20 28 100 80 20 9 55 10 6 21 40 M8 K004 P004 0.11
KP005 25 32 112 90 20 10 62 10 6 225 41 M8 K005 P005 0.15
KPO06 30 36 132 106 26 11 70 13 6.5 24.5 43 M10 K006 P0O06 0.21




Silver Zinc Alloy 2-Bolts Flange Units

UFLO0O & KFLOO0O BE%%?';'NG
UFL000
@ Bearing - GCr15
€ Housing - Zinc-alloy die casting
@ Eccentric locking collar
- carbon steel black oxide treatment
€ NBR seal
@ Available with stainless steel cover
Unit No. Shaftd EE = 2ol Bearing No.| Housing No. Weight
(mm) H J A2 Al A N L s z A3 [ty (kg)
UFL000 10 60 45 6 6 12 7 36 4 19.7 M6 U000 FLO0O 0.07
UFL001 12 63 48 6 6 12 7 38 4 19.7 M6 U001 FLOO1 0.08
UFL002 15 67 53 6.5 6.5 13 7 42 45 20.7 M6 U002 FL002 0.11
UFL003 17 71 56 7 7 14 7 46 5 22.7 M6 U003 FLOO03 0.14
UFL004 20 90 71 8 8 16 10 55 6 26.2 M8 uoo4 FLO04 0.23
UFL005 25 95 75 8 8 16 10 60 6 27 M8 U005 FLO05 0.27
UFL006 30 112 85 9 9 18 13 70 6.5 28.5 M10 U006 FLO06 0.39
Ay
2-N
KFLOO0O
@ Bearing - GCr15 o & —
@ Housing - Zinc-alloy die casting -
@ Set screws ‘ closed
@ NBR seal -
@ Available with stainless steel cover
; 1
N
= {_ | open
Unit No. Shaft d Dimensions! mm) el Bearing No.| Housing No. Weight
(mm) H J A2 Al A N L s z A3 [y (kg)
KFL000 10 60 45 6 6 12 7 36 16 20.3 M6 K000 FL0O0O 0.07
KFL001 12 63 48 6 6 12 7 38 16.5 21 M6 K001 FLOO1 0.08
KFL002 15 67 53 6.5 6.5 13 7 42 4.5 185 23 M6 K002 FL002 0.11
KFL003 17 71 56 7 7 14 7 46 19.5 25 M6 K003 FLOO03 0.14
KFL004 20 90 71 8 8 16 10 55 23 28 M8 K004 FL004 0.23
KFL005 25 95 75 8 8 16 10 60 6 245 28.5 M8 K005 FLO05 0.27
KFL006 30 112 85 9 9 18 13 70 6.5 27 305 M10 K006 FL0O06 0.39




Silver Series All Stainless Steel Pillow Blocks

MUPO00O & MKPOO0O

SSUP000

Bearing
Housing

440 stainless steel

304 stainless steel

Eccentric collar 304 stainless steel

Available with stainless steel cover

&H

BERRING

J
|k
_ Shaft d Dimensions(mm) Bolt Size Bearing Housing Weight

onitNe- (mm) H L J A H1 Ho N S B1 A3 mm No. No. (kg)
SSUP000 10 18 67 53 16 6 35 7 17.5 33 M6 SuUooo SP000 0.08
SSUP001 12 19 71 56 16 6 38 7 4 17.7 33 M6 SuU001 SP001 0.1
SSUP002 15 22 80 63 16 7 43 7 4.5 18.7 34 M6 SuU002 SP002 0.14
SSUP003 17 24 85 67 18 7 47 7 5 20.7 38 M6 SuU003 SP003 0.17
SSUP004 20 28 100 80 20 9 55 10 6 24.2 46 M8 SuU004 SP004 0.26
SSUP005 25 32 112 90 20 10 62 10 6 25 47 M8 SU005 SP005 0.33
SSUP006 30 36 132 106 26 11 70 13 6.5 26 50 M10 SuU006 SP006 0.5

SSUP000

Bearing 440 stainless steel

Housing 304 stainless steel

Set Screw 304 stainless steel

Available with stainless steel cover
Unit No. Shaitd ) Bolt Size Bearing No. | Housing No. _Weight

(mm) H J A2 | A1 A N L s z A3 mm (kg)

SSKP000 10 18 67 53 16 6 35 7 4 14 28.3 M6 SK000 SP000 0.03
SSKP001 12 19 71 56 16 6 38 7 4 145 30 M6 SK001 SP001 0.04
SSKP002 15 22 80 63 16 7 43 7 4.5 16.5 33 M6 SK002 SP002 0.05
SSKP003 17 24 85 67 18 7 47 7 5 175 36 M6 SK003 SP003 0.07
SSKP004 20 28 100 80 20 9 55 10 6 21 40 M8 SK004 SP004 0.11
SSKP005 25 32 112 90 20 10 62 10 6 225 41 M8 SK005 SP005 0.15
SSKP006 30 36 132 106 26 11 70 13 6.5 24.5 43 M10 SK006 SP006 0.21




	U000 and K000
	Sheet2

	UP000 & KP000
	Sheet1

	UFL000 & KFL000
	Sheet1

	MUP000 & MKP000
	Sheet1


